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Sets A and B have 3 and 6 elements respectively. What can be the minimum number of elements in A
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Ina town of 10000 families, it was found that 40% families buy newspaper A, 20% families buy
newspaper B, 10 % families buy newspaper C, 5% families buy A and B, 3% buy B and C and 4
% buy aand C. If 2% families buy all the three newspaper. Find

(i) the number of familiar which buy newspaperAonly. = 33,

(ii) the number of familiar whichbuy none of A,BandC. = y.p,
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50% of those who read both A
and B look into advertisements.
Then, the percentage of the
population who look into
advertisements is
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‘%a class of 140 students
numbered 1to 140, all even
numbered students opted
Mathematics course, those whose
number is divisible by 3 opted
Physics course and those whose
number is divisible by 5 opted
Chemistry course. Then, the
number of students who did not

opt for any of the three courses is
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